S JdENNArelH

POLEA TENSORA 200
TENSION PULLEY 200
POULIE DE TENSION 200
SPANNROLLE 200

INSTRUCCIONES DE USO Y MANUTENCION/
INSTRUCTIONS FOR USE AND MAINTENANCE/
INSTRUCTIONS D'USAGE ET ENTRETIEN/
GEBRAUCHS- UND WARTUNGSANLEITUNG/



INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10
Date: 11/06/2020 Revision: 10

dENIATeCH

REVISION | 10 | DATE | 29/06/2017 | PRODUCED BY / APPROVED BY | J.A. Torrubia/ V. Navaz
EFFECTIVE DATE OF
SECTION DESCRIPTION SUANEE
2.10 New point added for Tensioning Pulley V2 11/06/2020
REVISION | 09 | DATE | 29/06/2017 | PRODUCED BY / APPROVED BY | P. Hernandez /J. Marco
EFFECTIVE DATE OF
SECTION DESCRIPTION CHANED
2.5 Section updated: ARTICULATED COVER 29/06/2017
REVISION | 08 | DATE | 04/04/2016 | PRODUCED BY / APPROVED BY | P. Hernandez /V. Navaz
EFFECTIVE DATE OF
SECTION DESCRIPTION SUANEE
2.5 Section updated: ARTICULATED COVER Not applicable
2.8 Section updated: LAMINATED WEIGHTS Not applicable
REVISION | 07 | DATE | 26/02/2015 | PRODUCED BY / APPROVED BY | J. Marco/O. Lacamara
EFFECTIVE DATE OF
SECTION DESCRIPTION CHANED
2.9 New point added for Tensioning Pulley with a weight 26/02/2015
3 New plans added for the Tensioning Pulley with a weight 26/02/2015




INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10

Date: 11/06/2020 Revision: 10 k‘ UHHE I_EEH

INSTRUCTIONS FOR USE AND MAINTENANCE

1
2

3

INSTRUCTIONS FOR USE AND MAINTEINANCE .......ccotiiiiimttitiiiiiiinititiiiiiinnitesisisssnsstesiismmmmsseesssssmmsssssessssssssssses 3

ASSEMBLY HANDBOOK OF THE TENSION PULLEY 200 ......ccceoereueremerenensnssssssssssssssssssssssssssssesesssensssssssssssssssssssssssssssssssses 3
2.1 PULLEY RECEPTION ...ttt b e s ea e s b e b b e s s b b sb e e s saa e aa s sba e nae s 3
2.2 ASSEMBLY OF THE CONTACT SUPPORT WITH THE GUIDE ANCHORINGE:.......coociiiiiiiiiiiic i 3
2.3 PLACING OF THE WEIGHTSUPPORT BAR IN THE GUIDE ANCHORING: .......ccoiiiiiiiiiiiiii e 3
2.4 ASSEMBLY OF THE PULLEY IN THE WEIGHTSUPPORT BAR: .....utiiiiiiiiictticiciic et 4
2.5 ASSEMBLY OF THE ARTICULATED COVER AND THE UNRELEASED ROPE SYSTEM: ..ccvviiiiiiiiiiiiciiccce 5
2.6 PLACING OF THE TENSION PULLEY IN THE GUIDE: ....cutiiiiiiiiceicc s 7
2.7 PLACING OF THE ROPE: ...ttt ae e s be e e sbe s s saa e e ae e aeeennee s 7
2.8 ASSEMBLY OF THE WEIGHTS IN THE TENSION PULLEY: <..vviuiieiiecieiieeteieiesseste sttt ssssssessssesessnsesesses 8
2.9 TENSIONING PULLEY WITH A WEIGHT ..ottt bbb 9
2,10 TENSION PULLEY V2 ...ttt bbb b e bbb e s b e s b e s s bb e e ba e saa e na s 10

L0 I N 10




INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10 . L — —
Date: 11/06/2020 Revision: 10 - U_II?ZI I = E H

1 INSTRUCTIONS FOR USE AND MAINTEINANCE

All the components are very simple and do not need a special maintenance.
The most important points that must be considered are these:
1. The assembly instructions of each tension pulley must be respected.

2. The screws for the adjustment and fixing of the tension pulleys to the guide and those for the components of
the Tension Pulley have to be tightened with his respective tightening torque in order to guarantee the proper
fixing and avoid a wrong tension pulley action.

3. The tension pulley situation in the guide must be correct so that the rope running in the pulley of the
overspeed governor and the tension pulley, circulate properly. In this way the decreasing of the rope life can
be avoided, as far as the groove of the pulley.

4. Knocks and dents must be avoided.

2 ASSEMBLY HANDBOOK OF THE TENSION PULLEY 200

2.1 PULLEY RECEPTION

Once received, the Tension Pulley 200 should be unpacked and it should be checked that all its components have
been received in good conditions (see enclosed components list, (DYN 20.C202.08).

2.2 ASSEMBLY OF THE CONTACT SUPPORT WITH THE GUIDE ANCHORING:

First the contact support (2) will be joined, with the guide anchoring (1) by 4 screws DIN 933 M6x20 (3) with 4 washers
DIN 125 M6 (4). Then they will be fixed with 4 grower washers Grower DIN 127 M6 (5) and 4 nuts DIN 934 M6 (6).
After that the slackening contact (7) in the contact support (2), by 2 screws DIN 933 M4x35 (8), and 2 washers DIN
125 M4 (9), then they will be fixed with 2 toothed washers DIN 6798 M4 (10), y two nuts DIN 934 M4 (11).

Figure 1

2.3 PLACING OF THE WEIGHTSUPPORT BAR IN THE GUIDE ANCHORING:

Insert the hexagonal bushing (12), in the hole of the guide anchoring (1). It must be joined by a grower washer DIN
127 M18 (13) and a nut DIN 936 M18 (14). Once the hexagonal bushing is fixed, insert the shaft of the weight support
bar ensemble (15) in the hexagonal bushing, insert a security ring DIN 471 D=12 (16), in order to avoid its release.

Note: Don’t Screw the hexagonal bushing very strong in order to avoid its breaking. Figure 2



INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10 f L — —
Date: 11/06/2020 Revision: 10 - ﬂ_llh'l I = E H

Figure 2

2.4 ASSEMBLY OF THE PULLEY IN THE WEIGHTSUPPORT BAR:

First insert a bushing (17) and a nylon ring (18) in the shaft of the weight support bar (15). The pulley (19) will be
inserted in the shaft of the weight support bar.

In order to insert properly the pulley in the shaft, place the bearing ball in the shaft straight. The adjustment of the
shaft and the bearing ball should be with a hammer.

Use a pipe placed in the internal ring of the bearing. Hit the pipe with the nylon hammer until the pulley make a stop
in the bushing.

Insert a nylon ring (18). Figure 3

Figure 3



INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10 { — —
Date: 11/06/2020 Revision: 10 & TEIATeCH
2.5 ASSEMBLY OF THE ARTICULATED COVER AND THE UNRELEASED ROPE SYSTEM:

Attach the cover joint (32) to the guide block with two DIN 933 M6x20 screws (3), two DIN 125 M6 flat washers
(4), two DIN 127 M6 spring washers (5) and two DIN 934 M6 nuts (6).Figure 4

Figure 4

Place the cover arm (33) on the cover joint and secure it with a DIN 933 M6x16 screw (34), two DIN 125 M6
washers (4) and a DIN 985 M6 Autoblock nut (35).

Do not tighten it completely, so that the cover arm can rotate freely on the cover joint, Figure 5

@/ \ | 0

Figure 5

Insert the articulated cover (20) into the shaft thread and attach it to the cover arm with a DIN 933 M6x65 screw
(36), a DIN 125 M6 flat washer (4), a DIN 127 M6 spring washer (5) and a M6 DIN 934 nut (6). Then attach a DIN
125 M6 flat washer (4) and a DIN 985 M6 AutoBlock nut (35).

Do not tighten completely, so that the unit can rotate.

Finally, insert a DIN 125 M10 flat washer (24) and a DIN 985 M10 Autoblock nut (25) into the shaft after the
articulated cover.Figure 6



INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10 - L — —
Date: 11/06/2020 Revision: 10 - IE/14d icCH

Figure 6

Rotate the support bar (15) to check that the cover arm (33) and articulated cover (20) rotate freely.

-]

=S S

o © " o} o}

=] m— Y -

00

The rope out protection consists of three screws DIN 933 M5x35 (21) Insert them in the articulated cover. They
will be fixed with three washers DIN 125 M5 (22) and three nuts DIN 934 M5 (23).Figure 7.



INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10 L — —
Date: 11/06/2020 Revision: 10 - IE/14d icCH

Figure 7

2.6 PLACING OF THE TENSION PULLEY IN THE GUIDE:
In order to place the tension pulley, use M14 forged clips (26).
Place the ensembile in a straight way and screw (not completely) the forged clips as appears in the figure.

Note: Check visually that the anchoring guide plate is on perpendicular position to the guide. Figure 8

Figure 8

2.7 PLACING OF THE ROPE:

Once the tension pulley is placed the rope will be inserted in the groove of the pulley and inside the screws of the
rope out protection system.

The weight support bar (15), must be as it is shown in the figure more or less, since when the weights tensioning the
rope will be joined to the bar, the pulley tension ensemble must be in straight position.

So, in order to get the weight support bar in the mentioned position, the ensemble will have to descend, use a Nylon
hammer to hit in the anchoring guide plate till the position of the tension pulley is the position shown in the Figure 9.

Once placed properly, screw strongly the forged clips on the guide.

Note: The tension Pulley must be straight except the weight support bar.



INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10 ¢ uyﬂa I—EEH

Date: 11/06/2020 Revision: 10 ~

The forged clips hitched to the guide will have to be straight so that the subjection surface be maximum.

—F || = o ©
(o} @ o
=l || = g0 ]

2.8 ASSEMBLY OF THE WEIGHTS IN THE TENSION PULLEY:

The weights (29) will have to be joined in the position as it shown in the Figure 10. Use two screws DIN 931 M14x80
(30). Fix them with two Grower washers DIN 127 M14 (31).

Figure 10

The Tension pulley will be as it is shown in the Figure 11



INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10 & uyﬂa I_E[H

Date: 11/06/2020 Revision: 10

Figure 11

2.9 TENSIONING PULLEY WITH A WEIGHT
If the overspeed governor is unidirectional, the tensioning pulley can be assembled with a single weight.
However, it must be remembered that the weight must be assembled in the attachment hole at the end of the bar.

= || = =] | IE2=1
o (@] © £| o [-] o [o]
= | = o8 >< El| == g
/1 N\

Figure 12



INSTRUCTIONS: Tension Pulley 200 Cod: DYN 20.02.10 f L — —
Date: 11/06/2020 Revision: 10 - ﬂ_llh'l I = E H

2.10 TENSION PULLEY V2

There is a version of the tension pulley with a different guide rail attachment part, so that the rope is longer than the
guide rail. A diagram with general measurements is included in the assembly drawings section.

Note: This version has no articulated arm for the protective cover.

— =] [_I .

o L] o :
—= || =~

Figure 13

3 UNIT PLANS

The unit and assembly drawings are below.

10



9 | g | 14 € | 4 |
10d opinyysng _ ‘e aAnyjisng .0J8ayol4
€0°L0ZD°0Z NAQ :oN "‘a02 ONV1d WS 891 /-NIAd NNO3IS VIONVYYHITOL NIS Svdld3an
e|eosg ‘SANOIOVAL3ISE0
002 ITTOYNNVAS BUWION
00¢ NOISN3L 3d 31'1Nod ¥7102/20/9Z | opelnaig
a 002 A3T11Nd NOISN3L SIqUION EY29
00¢ YHJOSN31 v310d :dns "0}1
:0LNNFNOD 0% o
:0peulw.s) 0sad
u \ f,» HEIEET
t“l — QQ\ qn 4 :0LNNFNOD HOd QvaILNYD
ZeAeN ‘A |SeAIeNS 11(8102/90/90 SEJ0D SeAaNnU uspeue S €0
— OJJEeA ' H Jejld 2102/90/¢¢ epejnaiue MQNH B| ezljenjoe ag ¢0
: opeulwe| ap esad
ZBABN A H 1elld 910¢/0L/LL A epejnaiue MQNH uod ezijenjoe ag L0
opeqoidy| opelnqig | Byoe4 uoinodiosaq Aoy
SOUOISIABJ Bp |ellO]SIH
9|
;-] «
= |y |
w
[ NN
W J J
00
q 9G1 gGa/
0ce
mN._mor G'Z61l GZ'Ly
&)
A o)
< 00
o Y
w
N ‘
o o >IN
o o
\m °
v |o]e
o ) [
9 | S | 14 € 4 | |




9 | g

174

-1od opinjiisng _ e oAnjisng

{OIENRIE

-ejeds3y

00°LLZD 02 NAQ oN d02 ONV1d WO 891 /-NId NNO3S VIONVHITOL NIS Svdld3an

‘SANOIOVAYISHO

(ZA) 00Z ybram uoisus |

ewlJoN

ZeneN ‘A

0202/90/%0 | opelnqid

SIGUON

BU00]

:dns 03}

‘OLNNFNOD

100 "0}

:opeuIwlg) 0sad

HIZICUARC =

‘leusiepy

‘OLNNFNOD "Od avdlLNVO

 — = - =

00l

08¢

qae

€l¢
gee

8Ll

0lc




o

1 14 A_V € 1 14 1

saly

S}
/

/ajeuobexaH a|jinoq
/Buiysng jeuobexaH

/reuoBexaH ojjinbse) XT

abuuuolAN

JUOJAN sanbeg

/Bury uojAN
JUOIAN oJiuY X7

M9
/spiod
ybram
SeSod XN

’/@ (1)

(81T)

(62)

/lusWiayouR|al ap 10eIu0D
/splod-auiod aireg

Jreq uoddns sybiapn
/Sesadelod eleg X T

noeuod Buluaxoe|s

Bunxoepqy Buniayeypeluoy

/3]2418AN0D 1oeod uoddng

/ore|d uonosyoid (02) oddns 10e1u0D
rede XT Jo10r1u0) auodos XT

(1aBejabny nw) 8|0y
/(S1uswia|nos 29AR) aljnod

/(sbuireaq yum) As|ind
J(soluaiwepol uod) eajod XT

Bunbnsajaqsbuniynd
/apinb abewiy
/Bulioyoue aping

reinb auewy X

9 | S T
:1od opinjiisns i e akniisns HOJETVRIE]
80°2022°0Z NAQ N ‘00D ONv1d [ WO 89T2-NId NNO3S VIONYHITOL NIS SYAIQIW
‘eleosy ‘SANOIOVAHISAO
NILNINOJINOMN LSITHONLS 7 BUWION
ISLNVSOdINOD 39VvI3d3d /NOILYDIZILNIAI Hood Tsﬁoﬁo opeinaa

SLNINOJWOD /SOLNINTTT 3031dS3AA m— susabaxoed \

00z 3||oJueds /00z uoIsua] ap aljno : 100} "0}

/002 Mm_____._n“cco_w:m._.WOMN_M.OWr:&F m“_w_ou OLNAENGS :opeuIWIa) 0S8d \OSU,@U —)_U CO_H.W_SO_”_L< 0

=57 ‘l =3 pr— nulol 1ano)

t“l — QQ qn M :0LNNCNOD HOd AvalLNYD \MQGH CO_O.Q_DO_td« xn_n 0 ANmuv
0dJelN C | HJe|ld [/T0Z/90/9C epe|noie ede) g ezijenioe as 30 X
zeneN "A| HJelld [9T0Z/¥0/70| epejnone ede) sezald uapeue as 10
opegoidy|opelnqig| ®YdeH uo19dosaq ‘Ao

SSUOISIAS] 3p |el0ISIH

asyong w;omcm%mcm_er_ow
wue@o9dg /a|Inoq /s@abio4 sapug
/ayoeo np seig /Buiysng @ /sdijo pabiod

wJe Isno | sepelio4 sepu

fede] ozeig XT
pleluoyuuedsiug
asyonqueysyd’as abueisiabrenolyoiman

JoyuslWesUsISep 010D X T % @)




9

g : v : g : g :

:10d opinnsns 7

e akniisns

IEIVRIE]

‘ereosy

80°2020°0Z NAQ °N 'a0d ONV1d

NO 89TZ-NIA NNO3S VIONVYH3TOL NIS SYAIdIN

‘SANOIOVAHISAO

o

NILNINOJINOM LSITHONLS
/SINVSOdINOD 39vH3d3d /NOILYDIHILNIAI
SIN3INONOD /SOLNINTTI 303I1dS3a

7 BWION

H lejid [2T02/70/60 | opeinaia
9IqUION [ EIVeEE]

:dns 011

002 3l0JuedsS /00Z UOISUSL 8P &lINOd - | NAENOD
/002 A3]Ind uoIsua] /00zZ elosua] eajod

100) ‘011

:opeulwlia) 0sad

HIZLCUAL

‘feusreiy

‘OLNNCNOD JOd avdlLNYO

02JeN T | HJIelld [/T0¢2/90/9C epe|naite ede) g| ezijenioe as 30
zeneN A | HJelid |9T0zZ/y0/y0| epenaiue edel sezaid uspeue as 10
opegoidy|opelnqig| ®Yydad uo1aduoasaqg ‘Ao

SaUOISIAa] ap [eloISIH

2T @ T.¥ NIa Buususylayals / 81840s ap anbeg / bury A1unoas / peplnbas ap ofjiuy T
STIN 9£6 NIQ 18NN / N0IOT /INN /BdIdNL T

OIN G386 NIQ 1=sINWX30|qoINyY / X30|qoiny m:ohow_ / INN X00|g0oIny / %20|g0oINy edlan] ¢
OTWN G986 NIQ 1=s\RNwX20|gqoIny / oo|gony m:O._ow_ / INN Y00|goINY / %00|qoINy e dian] T
9N €6 NIQ W=un / w:o._om_ / SINN / Sedlan] /

SN €6 NI W=1Nn / m:ohow_ / SINN / Sedlan] ¢

YN €6 NIQ U=snny / w:o._ow_ / SINN / Sedlan] ¢

TIN 8629 NI uadgiaydsuyez/ / Soglua S9||opuoy / SIaysem payloo] / Ssepelusp Se|jspuely ¢

9N 22T NIQ Bulispa- / 1aM0oI9) Sa||apuoy / JaM0IS) SIBUSeAA [ JaMoIS) sejapuely /
YTIN 22T NIQ Bullispad / 1aMol9) Sa||apuoy / 19MO0IS) SIBYSBAA / JOMO0IS) Sejapuely g
STIN 22T NIQ BulspaH / JaMoJ9) a||apuoy / 19MOIS) IBYSBAA / J8MOIS elapuely T
N GZT NIQ uaqiaydsBaliaiun / $a||opuoy / SISYSe / Sejopuely g

SIN GZT NlQuagiayasbapaIun / S8||apuoy / SIYse / Sejepuely €

9N GZT NIQ uaqgiayasBalialun / sa|japuoy / SIayse / Sejepuely 0T

OTW G2T NIQ uaqiaydsbapaiun / 9||19puoy / Jaysem / ejepuely T

GOX9N 8'8 ££6 NIA 9aNBIYIS / SIA / MBIIS / Of[IUIOL T

9TX9N 8'8 ££6 NIA 9aNBIYIS / SIA / MIIS / O[[IUIOL T

SEXVIN 8'8 €6 NIQ USQNBIYDS / SASIA / SMBIIS / SO||IUIOL g

GEXSIN 8'8 €6 NIQ USQNBIYIS / SBSIA / SMaIIS / SO||IUIOL €

0ZX9N 88 ££6 NIQ USQNBIYDS / SASIA / SMaIIS / SO||IUIOL 9

OPXPTIN 88 ££6 NIA USQNRIYIS / SBSIA / SMBIOS / SO||IUIOL g

00 ATTOINVCS 1A dNd TIMILIVNIINVHIHOS / 00 NOISNIL

344 3J1'INOd V1 3A JIF3ASSIA 7/ 00Z A3 11Nd NOISN3L dHL NI SM3HOS / 00¢ VHOSNGL V310d V1 3d VId3T1INdOL

| v R_V 3 | 4 | 1




v

9 ] S ] 4 € ] Z ]
TGS | s O] 091N T | H Jelid |Z102/90/.2 Epejnonie ede | B| ezi[enioe 65 €0
: : N WS 89T/-NId NN93S VIONvEI10L Nis svaiaan| ZEABN “A[ H Jelild [9T02/70/¥0| epejnonre ede] Jod ede] | aAmmsns S [ 20
‘ejessg €0°€0¢0°0¢ NAQ N doo onvid :sanolovAdasgo [opeqoldy| opelngig| eydeH uoloduosag ‘Nay

o

7 BWION

SaUOISIASI ap [ell0ISIH

NILNINOJNOM LSITHONILS
/SLNVSOdINOD 39vD3d3A /NOILYDIHILNIAI

H fend

W £102/20/0Z__| opeinaig

SIGUION LIREE]

S1IN3INOdINOD /SOLN3NT T3 3031dS3d

:dns 011

002 3jjoiueds /00Z UOISUBL 3P 3IIN0d - | NAENOD

100) ‘011

1002 A3|Ind UoISua| /00Z eIosua] eajod

:opeulwlia) 0sad

‘feusreiy

HIZ21eURLC S

‘OLNNCNOD JOd avdlLNYO

\

ZT STy NIAXT(9T)

9N G586 NIA X g (S€)

OTIN G86 NI X T (52)

8TIN 9€6 NIA X T (#T)

9N €6 NIA X £ (9)

SN €6 NIA X € (£2)

¥IN €6 NIA X Z (TT)

¥IN 8629 NIQ X Z (0T)

9N 22T NId X £ ()

YTIN 22T NIQ X 2 (T€)

8TIN ZZT NI X T (ET)

¥IN GZT NId X ¢ (6)

GIN SZT NId X € (22)

9N G2ZT NId X 0T (%)

OTIN SZT NId X T (¥2)
GOX9N 8°'8 £€6 NIA X T (9€)
9TX9N 8'8 ££6 NIA X T (¥€)
GEXVIN 8'8 £€6 NIA X 2 (8)
GEXSIN 8'8 ££6 NIA X € (T2)
0ZX9N 8°'8 ££6 NI X 9 (€)
OPX¥TIN 8'8 ££6 NIA X 2 (0€)
‘NIa




o

9 ] S ] 1% LV € | 14 | T

:1od opinjiisns i e akniisns HOJETVRIE]
Z20'7022°0Z NAQ oN ‘00D ONvd | WO 89T2-NIQ NNO3S VIONVHITOL NIS SYAIaIN
‘eleosy ‘SANOIOVAHISAO
NILNINOJNOXM ONNNHIIFZ39d i EBUWION
/SLNVSOJINOD NOILYOIZILNIAI /NOILYDIHILNIAl Hood Wﬂo&mmmﬁ opeinaiq
SININOJWOD /STLNINOJINOD NOIOVOIHILNIAI pr— 5 )
002 3||01uedS /00T UOISUSL 3P 3IIN0d | NOCNOD ‘09 oL A|U9301999d Q
1002 A3jINd UOISUS] /00Z BIOSUS] ©aj0d “opeuIlIe] 0sod /°24ded Np uoe|naiuy
. ‘[elare — .h®>oo
=7 feLotei Aulol
t“l — QQ\ qn M :0LNNCNOD ¥Od AVAILNYO \GQ@H uolde|ndoiuy X._H Q ANMV
001eN [ | HJelld [/10¢/90/22 epe|nonJe ede) e| ezijenioe as 20 N
ZeNeN'A | HJelid [9T0zZ/¥0/v0| epejnoile ede) sezaid uspeue as TO
opegoidy|opelnqig| ®Yyded uo19diosag ‘Ao
SOUOISIASJ 3p [elI01SIH
asyoNQglueysyoas
weex9ad _ aydsue|spaluyds /aleuobexaH a|inog
/342E3 Np Seld /se9bi04 sapug /Bulysng reuobexsH \
we Iano .
/ y 0] (eg) /sdiio pabio4 (92) /reuobexaH ojjinbsen XT ’/ (21)
redey ozeig X T /sepelioH sepug X7
asyang abuelsiabensydiman
/allinod /spiod-apod aireg uo M@cm__wﬂw_mz
\mc_%m:m (LT) /req poddns siybiapn / \_m_m__w_ co_>m
jolnbsed XT /sesadeliod eieg XT . (871)
JUOIAN ojiuY X7
Eo_\\_w\,_ww prejuouuedsiug mc:hwg_mﬁv_ﬂmov_
AuBlam /lUBWBYOURa] 3p 10BIU0D ) boﬂmoo uoddns
. 62) NoeIu09 Buluaxoe|s /Moadns 1oBlucy
fessd X1 JOIUBILBSUBISEP 010B0D XT jo10e0D suodos X T
Bunxoapay (1abeiabny Nw) 3jj0Y Bunbnsayagsbuniyn4
/3[248AN0D /(SJuswia|nol 93AR) aljnod .\w_o_:m abewiy (1)
/are|d uonosioid 02) /(sBurreaq yum) Aajnd (6T) /BULIOLUE 3pINS
fede | XT /(sowaiwepos uod) eajod XT /eInb airewy XT

1HOIM3O ININIF LIN ITT0dNNVdS /ASSVIN NN O3FAY NOISN3L 3d 31'TNOd /LHOIFM V HLIM ATFT1Nd NOISNIL /VSVIN YNN NOD VHOSN3L v310d

9 | ] | v R_V 3 | 4 | 1




9

g : v : g : g :

:10d opinnsns 7

e akniisns

IEIVRIE]

‘ereosy

20'7022°02 NAQ N ‘a0 ONvid | WO 89TL-NId

NNO3S VIONVYITOL NIS SVAId3iN
‘SANOIOVAHISAO

o

N3ILNINOdJWOX ONNNHOIFZ34
/SLNVSOdINOD NOILVYOIHILNIAI /NOILVIIHILNAdI
SININOINOD /STLNINOdJNOD NOIDVIIdILNAAI

7 BWION

H tejid [ST0Z/€0/0T opelnaig
SIGUION [ LIREE]

:dns 011

00¢ 9JjoiuedsS /00Z UOISUSL 8P aliNod 0 NACNOD
/002 KajInd uoisua] /00Z eioSua] es|od

100) ‘011

:opeulwlia) 0sad

HIZLCUAL

‘feusreiy

‘OLNNCNOD JOd avdlLNYO

0dJelN 'C | HJelld [/T0¢/90/.2 epe|noile ede) g| ezijenioe as 20
ZeNneN'A | HJtelld [9T0Z/¥0/y0| epenoie edel sezaid uspeue as TO
opegoidy|opelnqig| ®Yd9d uoindiosag ‘Ao

SauOISIAaJ ap [eloISIH

2T @ T.¥ NIA Buusyayiayols / 8184ns ap anbeg / bury A1indas / pepunbias ap ofjiuy T
8T 9€6 NIQ J8uNN / N0JOT /INN /eIIBNL T

9N G86 NI 181NWXI0|goINY / X30|q0Iny m:o;om_ / INN Y00|g0oINy / %20|qoINy Bdlan] ¢
OTIN G986 NI J=211NWXI0|goINy / X20|goiIny m:o\_ow_ / INN Y00|g0oINy / X20|goIny edlan] T
9N €6 NI W=1n / m:ohow_ / SINN / sedlan]| /

SN 7E6 NI W=SHUN / m:o‘_ow_ / SINN / sedlan] ¢

YN 7E06 NIQ UI=sin / msohom_ / SINN / sedlan] ¢

TIN 8629 NIQ u=aqiaydsuye7 / Segalua Sa||opuoy / SisySem payloo]| / Ssepelusp Se|opuely ¢

9IN /2T NIQ Bulispa4 / 18MoI9) S||apuoy / J9MOIS) SIBYSBAA / JOMO0IS) Sejapuely /
YTIN 22T NIQ BuLuspa- / 19M019 S3|[apuoy / J9MOID SIBYSBAA / JaMOID Sejapuely T
8T 22T NIQ bBuniapa- / 1amols a||apuoy / 18M0oI9 IBYSeAN [ JaMOoI9) ejapuely T
VIN ST NIQ uaqiaydshajisiun / sa|lopuoy / Sisysem / sejspuely g

SIN SZT NiQuaqraydsbapiaiun / sa||apuoy / S1sysep / Sejspuely €

9N SZT NIQ uaqiaydshajisiun / saj|9puoy / SISUSeM / Sejspuely 0T

0T S2T NIQ uaqiaydshaiaun / 8|lspuoy / Jaysep / ejspuely T

G9X9IN 8'8 £€6 NIA aqneJyds / SIA / MaIds / OfJILIoL T

9TX9IN 8'8 £€6 NIA aqneJyds / SIA / MaIds / Of|ILIOL T

GEXVIN 8'8 €€6 NIA USgNeIYIS / SSSIA / SMBIJS / SO||IUI0L ¢

GEXGIN 8'8 €€6 NIQ USgNeIYIS / SSSIA / SMaIOS / SO|IUI0L €

0ZX9IN 8'8 €€6 NIQ Usgnetyds / SSSIA / SMaIJS / SO||lulo] 9

OvXvyTIN 8'8 €€6 NIQ US(NeIYIS / SISIA [ SMaIOS [ SO||IUIOL T

S1FANLIVNIGNVHHOS /d IFISSIA /1 SMIHOS / VA3 TTINGOL

1HOIMIO ININIF LIN 3TTOHINNVYAS /ASSVIN INN O3AY NOISN3L 3A 31TNOd /LHOIFM V HLIM A3T1Nd NOISNIL /VSVIN YNN NOD YHOSN3IL v310d

9

| S

| v R_V 3 | 4 | 1




9 ] S ] 1% LV € | 14 | T

o

-jod opininsns | ‘e aAnmnsns oW odJelN 't | HAJeld [LT0¢2/90/.2 epe|noie mamn_n B| ZI[en1oe asg 20
20°5029°0Z NAC N ‘000 ONvd | WO 89T2-NIQ NNO3S VIONVHITOL NIS SYaIan HJelld | HJelld [9T0¢Z/v0/70|epejnonte ede] Jod ede] e| aAnmsns as| TO
eRosy :saNoIovAdasgo |opeqolidy| opelngig| ®©yded uoloduosag LEE]
NILNINOJWOM LSITHONLS _ f o SSUQISIASJ 8p [el0oISIH
/SLNYSOdINOD 39v53d3A /NOILYDIHILNIQl Hood Wﬂo&wﬁﬂ openaia q
SINaINOdNOD /SOLNINTT3I 3031dS3dA :dns ‘011 \
00z 3jj0iueds /00Z UoISua] ap alnod ‘OLNACNOD 100} "0}
/002 >m__3n_ uoIsua] /00¢ elosua ] ea|od ‘opeulwis) 0sad

t“.l“.l\ qmmn f..sw» ‘OLNNCNOD JOd D<H““mb“_\“

2T T.y NIA X T (9T)

9N 5§86 NIA X ¢ (G€)

OTIN G86 NIA X T (52)

8TIN 9€6 NIA X T (¥T)

9N €6 NIA X £ (9)

SN €6 NIA X € (£2)

vIN 76 NI X Z (TT)

¥IN 8629 NI x Z (OT)

9N 22T NId X £ (S)

YTIN 22T NI X T (T€)

8TIN ZZT NI X T (ET)

vIN SZT NId X 2 (6)

SN SZT NIa X € (22)

9N SZT NId X 0T (¥)

OTIN S2T NI X T (¥2)
GOX9N 8'8 ££6 NIA X T (9€)
9TX9N 8'8 ££6 NIA X T (¥€)
GeEXyIN 8'8 £€6 NIA X Z (8)
GEXSIN 8'8 ££6 NIA X € (T2)
0ZX9IN 88 £€6 NIA X 9 (£)
OVXyTIN 8°8 €66 NIA X T (0€)
‘NIa

1HOIM3O ININIF LIN ITT0dNNVdS /ASSVIN NN O3FAY NOISN3L 3d 311TNOd /LHOIFM V HLIM AFT1Nd NOISNIL /VSVIN VNN NOD VHOSN3L v310d

9 | ] | v R_V 3 | 4 | 1



| : v

9 _ S e _ Z _
10d opinyysng _ ‘e aAnyjisng .0J8ayol4
00°Z120°0Z NAC N ‘02 ONv1d | WO 89L2-NIQ NNO3S VIONYHITOL NIS SYAIQIN
e|eosg ‘SANOIOVAL3ISE0
NILNINOJWOM LSITMONLS e1qnuio} BW.ON
gl /SLNVSOdINOD 39v53d3A /NOILYOIHILNAA - 0202/90/80 1 opeinaid
S1ININOJWOD /SOLNINIT3 3031dS3dA “dns orL
. 109} "0}
(ZA) 002 3ybBrom uoisua ] “OLNNFNOD e
HIZ1CURLC
AN Q q n ‘OLNNFNOD H0Od advdlLNVvO
asyong ayosueljapalwyos
/0[N0 /seablio4 sepug
/Buiysng /sdiio pabio-
. [
Ol

asyonqueysyoes
/ojeuobexaH a||InoQ
/Buiysng jeuobexa

/leuobexaH ojjiInbsen Xl

’/@ (21)

abuejsiabel}ajyoiman

/spilod-anod aileg

/1eq 1oddns siybiapp
/sesadellod eueg X L

pjeluoyuuedsiug
iUBWBYOUR|al Bp 10BIUOD
/1oeju09O Buluayoe|s

/olusiwesualsap 0}Joejuo)d X—\

d abulIUO|AN
JuoJAN senBeg Bunyoapqy Buniajjeypeiuoy
/BUIY UOIAN /8]218AN0Y) /1oeyuod uoddng
\co_>.z OllLY X (g1) /e1e|d uonoajold /uoddns joejuon
. ¢ jede] X | Jjojoejuo) suodos X L
\/
S8)Y2IMB9) (1ebejabny W) a)j0Y Bunbnsajeqsbuniyn
/Splod /(Slusws|nol 98Ae) aljnod /opInb abewlLuy
' /SIyBIapp 0 /(sBuueaq yum) Asjind /Bulioyoue aping
/sesed X 0 (62) /(SojuILEPOI U0D) BBJOd X |, /einB auewy X |,
9 [ G € [ 4 _




9 | g | 174 AN € | c | 2

-lod opinyisng _ e aAnjisng .0J8ayol4

00°Z2129°0Z NAQ N 000 ONvd | WO 8912-NId NNO3S VIONVHITOL NIS SYAIQIN

e|eosg ‘SANOIOVAL3ISE0
NILNINOJWNOM LSITHONLS elgniio| UL
ISINVSOdINOD 39vO3dIA /NOILYOIIHILNAAI - 020¢/90/80 1 °pehad
SININOJWOD /SOLNINITI 3031dS3AA “ans oL

100 "0}

(ZA) 00Z 1yBIam uoisua | OLNNFNOD

:opeuIwlg) 0sad

HIZ21CUARLC S

Od3JeN | HJelld |2102/90/9C epe|nolje ede) g| ezijenjoe 8g 80
zeneN "A| HJelld [9102/¥0/¥0| epenoiue ede} sezald uapeue oS 10
opeqoidy|opelnqig| eyosd uoinduosaq Aoy

SOUOISIASI 8p |elIO}SIH

2l @ L.y NIQ Buusyiaylaydls / 8121ng ap anbegq / bury Ajndag / peplinbag ap ojjiuy |
8LIN 9€6 NIQ 483NN / N0JOT /INN / BOJBN] |

0LIN G86 NIQ J8nnwyo0|gqolny / 320[goIny SN0JOT / INN %00|qoiNy / ¥00|golny eosan] |
9N ¥£6 NIQ UIBHN / SNOJIOT / SINN / Sedsan] /

GIN €6 NIQ UIBRNIA / SNOJOT / SINN / Sedsdn] €

PN €6 NIQ UIBHNN / SN0JO3 / SINN / Sedidn] ¢

'Y 8629 NIQ udqgiayosuyez / sagjuaq s9||dpuoy / SIBYSEM Pay}oo] / Sepejusp sejdpuely g
O 221 NIQ Bulispa / JoaMolS) Sa||apuoy / JBMOILS) SIBYSEN\)\ / J8MOIS) Sejepuely
vLIN 221 NIQ BulLuspa{ / JoMolI9) SB||apuoy / JOMOIS) SIBYSBAA / JOMOIS) sejspuely 7
SLIN 221 NIQ BulLlspa{ / JoMOlIS) 8||IopuUO0y / JOMOIL) JaYSEA\)\ / J8MOIS) Bjapuely |

PN GZL NIQ uaqiayosbajiaiun / saj|opuoy / SIBYSEAA / Sejapuely g

GIN GZ | NIQuaqiayosbapiejun / saj|opuoy / SI8ysep) / sejapuely ¢

9N GZ1 NIQ uaqiaydsbajiaiun / s8||9puoy / SIBYSEAN / Se|apuely G

OLIN GZL NIQ uaqiayosbajiaiun / 8jjopuoy / Jaysep) / ejapuely |

GEXPIN 8'8 €€6 NIQ USQNeIYdS / SBSIA / SMBIOS / SO||IUI0] ¢

GEXGIN 8'8 £€6 NIQ USgneJydS / SBsIA / SMIOS / SO||IUIo] €

0ZX9IN 8°'8 ££6 NIQ usqnesyds / SasiA / SMaIOS / SO||IuI0] 9

OvX¥LIN 8'8 €€6 NIQ Udgnelyds / s8si/\ / SMaJOS / SO||lulo] g

¢\ 002 FT10NVCS 31d dNd 1IMILIVNIFGNVHHIS /ZA 00¢ NOISN3L 3d
3I'IN0d V1 3d FI4FSSIA /ZA 002 ATTINd NOISNFL FHL NI SMIHIS /ZA 00¢ VHOSNHL VI10d V1 3d VI4TTITINYOL

9 I g I v NT € I 4 I I




9

| 14

:Jod opinyiisns _

e aAnyjisng

{OIENRIE

:ejeos]

00°€L20°0C NAQ N 'dO3 ONV'1d

WO 891 /-NId NNO3S VIONVHITOL NIS Svdld3an

‘SANOIOVYAYH3SHO

NILNINOINOM LSITHONLS /SLNVSOdINOD
39vO3d3A /NOILYOIdILNIAl
SLININOJINOD /SOLN3INTT3 3031dS3d

ZEBAEN ‘A 0202/90/80 |opeqoidy
BIQNUIO] VT 0202/90/80 | openaia
SIqUION B(oo]

:dns "0y

(ZA) 00Z 1yBIam uoisua | OLNNFNOD

100 "0}

:opeuIwlg) 0sad

HIZ21CUARLC

NIV T

‘OLNNFNOD "Od avdlLNVO

opunjoud
opejeuede ‘se|oq Ll XGEXGL
Op ojusiwepoy| -¢02¢9- 11 G2ONIA| ¢
|[euobexay eolan | SN -¥E6 NIQ| €
|[euobexay eolan | YN - €6 NIQ| ¢
epeu}se peplunbas
op e|spuely €y V-86/9NIA| ¢
E|spuely €YV-SZLNIQl ¢
X9y-ezaqeld ap oulod GEX PN -EE6NIA| ¢
|[euobexay eolan] 9N -¥E6 NIA| ¥
uoisald ap ejepuely 9Vv-/ZLNIQ| ¢V
e|apuely YOV -GZLNIA| ¥
X9y-ezaqed ap oulad 0CX 9N -€E6 NIA| v
Xoy-ezaqeod sp ouldd| 0¥ X ¥LIN-E€E6 NIA| ¢
ugisaid ap ejspuely vLV-/ZLNIQ| ¢
|[euobexay eolan | OLN-G86 NIQ| |
9||9nw 8p e|apuely 8L V-/ZLNIA| |
E|spuely €G4d-1-GZL NId| €
leuobexay eosen] | G| X 8LIN - G298 OSI| |
E|spuely goLgd-1-GZL NId| L
X8y-ezaqed ap ouled GEX GN-E€E6 NIA| €
NId

0l




	1  INSTRUCTIONS FOR USE AND MAINTEINANCE
	2 ASSEMBLY HANDBOOK OF THE TENSIÓN PULLEY 200
	2.1 PULLEY RECEPTION
	2.2  ASSEMBLY OF THE CONTACT SUPPORT WITH THE GUIDE ANCHORING:
	2.3 PLACING OF THE WEIGHTSUPPORT BAR IN THE GUIDE ANCHORING:
	2.4 ASSEMBLY OF THE PULLEY IN THE WEIGHTSUPPORT BAR:
	2.5 ASSEMBLY OF THE ARTICULATED COVER AND THE UNRELEASED ROPE SYSTEM:
	2.6 PLACING OF THE TENSION PULLEY IN THE GUIDE:
	2.7 PLACING OF THE ROPE:
	2.8 ASSEMBLY OF THE WEIGHTS IN THE TENSIÓN PULLEY:
	2.9 TENSIONING PULLEY WITH A WEIGHT
	2.10 TENSION PULLEY V2

	1.1.1.1.1.1.1 Figura 1
	3 UNIT PLANS

